CHAPTER 2. DERIVATIVES
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2. Which of the following functions are not
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3. Ify = (Inzx)*, then dy/de =
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B) 3(In 2)?
C) 3z(lnz)* +
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E) None of these
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4. If F(r) = wsinz, then lind F'(3x/2).
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5. The approximate equation of the tangent line to f(r) = cos®(3z) at » = /18 Is
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B) y = 2.598x — 1.203

| C) ‘y ~ _2.508¢ + 0.575 - ép Cos (3*3 S 5"6.3"‘)

D) y = 2.598¢ — 0.575

E) ;\'niwol'llulw | ‘F/ = ng ( % )?qs
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7. Which ol the following functions has & derivative at z =07

. y=arcsin(z?~=1)==z

. y=azz|
L y=vat

A) T only

B) II only

C) TIT only

D) II and III only

@I, I1, and III

Let f be the function given by f(x) =3¢* and let g be the function given by g(x) = 6x". At what
value of x do the graphs of f amlgh?‘vparallc! tangent lines?
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(D) -0.302 i € = / x>
(E) -0.258 ;

9.

OV {(-:3539% -1?(‘

Whiclyof the following is an equation of the line

point where f'(x)=17
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(A) y=8x_-35

(B) y=x+47

(C) y=x+0763

(D) y=x-0122

(E) y=x-2.146

tto the graph of f(x)=x"+2x" atthe
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10. A tangent line drawn to the graph of y = at the point (1,2) forms a right triangle
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with the coordinate axes. The area of ithe triangle is
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11. The funetion < 3 m-\‘b = 3
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E) None of these

12. If f(x) = —g® + . then which of the following expressions represents f'(x) ?
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13. All the lunctions below. excepi gne, have the property that f(x) is equal to its fourth
derivative, f"”[r}. Which one doe have this property?
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15. If H(x) =a2" — 22 + = which of the following is H"(2) ?
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